Miss Hughes group —

7a. Blake and Li each have £48 to spend.

2 4
- | spent s of my money.

Blake

5 -
[ | spent ry of my money. } ﬁ
Li

How much money does each child
spend?

How much do they have left?

7b. Ellie and Junior each have £42 to
spend.

L 6
4 | spent - of my money. ]

Ellie

5
[ I spent e of my money. } Q

Junior
How much money does each child
spend?

How much do they have left?

P35

8d. Hamza has 45 balloons.

v
e

2
He gives % to his cousin and 5 to his
friend.

How many does he have left?

8b. Natalia has 66 dinosaur toys.

6 2
She gives T} to her brother and 5 to her
sister.

How many does she have left?

Ps

?a. Oliver and Grace are calculating
fractions of an amount.

¢b. Anika and Jakub are calculating
fractions of an amount.

Out of 132 colouring pens, five
twelfths are sold. How many are left?

Qut of 117 biscuits, seven ninths are
sold. How many are left?

Ps? 4 There will be 55 left. ]

Oliver
[ There will be 77 left. },

Grace

Who is correct? Expldin how you know.

Q-

There will be 24 left. ]
Anika

[ There will be 91 left. } et
Jakub

Who is correct? Expldin how you know.




